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1attributed to Antonio Machado.



ix

� � � ��� �a���

K)l�oD��$=���`.���.%$=,�,�!J��,6$=����� �%��-n��*3���E�VBY�AFI���I.�M���W 	 �I*�F d�� �&�(h�K)l�oD��B������n����, $ +
�(�UTI��,�! ���& "�`��M ��������.�0 �(��$&��$&���K�(���=.�FI�+�`���n�I���6FI��*%$&�����6* �(���1���=,6, $&M����>�= D0�$=�����UTI�1���i$&���
$=*�-#jc���I�k� d�� � �ihBK)l'oD� B��U�(�E����,6$&�(�UTI��,�!>�%$=��-A��M^��� �(��.�0����%$&�D$=���'�(���=.�FI�+�Y�����I���6FI��*%$&�(�
�6*\���+$=,��������6*�F����I01M%$=� �Q/��6*�$=��! ���($=����9`
������ �(���������Q-��C$=,���B������\/�.������(�Q�& �������%�����Q�V!HM �&W
$=*�-JBY�@���� ?�������1������0 ���601M�,U!A$=�	��K)l'oD�
�&9


����K-�������� T=���k!\�= ����-������U "�@$=�����c��� $&����- B��U�(� $ K@l'o $& "������F=,6� B d K)l�o���
=r+p=rIsIh
M�.]� $&*N��*�-N�(� $8,��I*�F8�k�i$=*]-��6*�Fa-���/%$ �(� $=/^�I.]�A�����\��(H���($=F+$&, $=� �(�6� �I��FI$=, $=� �(���n�I���6FI��*
�= ;K@l'oD�J$=*]-  ?�I�A����� �%�����J�(��0E� FI$ T=�a$_-����������J���k�(��0�$&��� �= @�(���
$=01�I.�*+�J�= `��*]����F&!
����,6��$=����-gW d �

γ,iso
h W -�.]���6*]F �(�]����(cM�,��I�����I*
�6*2�����E ?�=��0 �= K)$=010�$ +V�($C!H��W<$=����.�01�6*]F �(��$&�

�(�]�A��(cM�,��I�����I*aBD$=���6���=�(���IM����=9 
����A��.]/������H.]��*+���������60E$&�(���`�= ������A�����=�����IM����E���3.���T&$=,���*+�
��*]����F=�6���'�6*]-��6��$&�(��- $&, $=��0E��*�FI,�!1����FI�#T&$=,6.���� d

∼ 1054 ����F3hD ?�I�'$> ?� B K@l'oD��9Ym �'B5$&�'������*
��.]FIFI���k�(��-n�(�%$ ���(���'K@l'oD�����=.�,6-J/^�@���I,6,��60E$&�(��-#$=*�- ����*���� �

γ,iso
01�6FI�+��*��&��/^�@$1F=�c�H-

����M���������*3�($&�(���I* �= �����)$=����.%$=, ��*�����F=!J����,6�C$&����- -�.����6*�F������)��(cM�,��I�����I*g9
m  LK)l'oD��BD�����b��*�-�����-n���I,6,��60E$&�(��-��(�]��*n� � ���������= :���I,�,6��0�$&���6�I*�$=���@��(cM^��� �(��- �(�

/^�@������*n�6*A�����)��T=�I,6.]���6�I*J�= <�(�]���6��$  "�(����FI,6� B ,6��FI�+����.]��TI����9 
����@�I����FI�6*#$&*�-J��TI�=,6.]���6�I*J�= 
K)l�o $& "�(����FI,�� B����6��-����������6/^��- /3! $�B���-���,U!#M �=M�.�, $&��0E�H-���, W]��$=,6,���-#�(��� � ������/%$=,6, ) �H-���, W
�6*8B��]�6�i� $ �%����/%$=,�,D�6�b������$&�(��-�/+!a����,��C$=���#�= �$ , $=��FI�#$=01�I.�*+�K�& ���*�����F=! d

∼ � r 51 ����F3h
M^�I�����6/�,U!�-].��n�(�a���I,�, $=M����n�= @$20�$=�����UTI�n�k�i$=��9 
����\FI��$CTc�U�i$&���6�I*�$=,���*�����F=!�����,6��$=����-N�6*
�(�]�`M����c��������-�����T=���'$1����,6$&�(�UTc�������6�������H�iZJBD$CTI�)B����6�i� M����=M%$=F+$&�������6*+���>�����)��������.]09+ /�.����k�
01��-���.�0 9)
����K����,6$&�(�UTc�������6�@�����H�iZnBD$ T=�>��BY����M]�`.�M\�����K��.������I.]*�-��6*]F 0E$&�������6$=,fW[����$&�(��*�F
���Y�(���]�6FI������01M ���($&��.�������9L
����Q�����H�iZ=��-J��,6��� �(���I*���$=��� $=������,�����$&�(��-A�(�K����FI����*�����FI�6����$=*�-
�(�]��M �=��� + �����H�iZ 0�$=F=*������6���%��,�- �6��$=0EM],6� ����- ���#$E ?��$=�����6�I* �= $�F+$=.]����9Q
��]������, $&����TH�6�k�(�6�
��,���� �(���=*��5F=!H�($ �(�6*]Fb�6*E�(�����D0E$=FI*�� �(�6� �%��,6-A��$=-�� $ �(�'��!H*��i�����=�(���I*J�($=-��6$&�(���I*>B����6�i�A���D������*



x

$=�@$=*
$& "������F=,6� B �& Y������K@l'o �6*4(J+V�($C!=W<�=M]�(���C$=,L$&*�- �($=-����AB5$CT=��,6��*�F=������9E4 ���6F=*�� �%��$=*+�
-�������,�����$&�(���I*n�= �(���@�����H�iZJB5$CTI�b�6*J�(���`�($=-��6$=, -�������� �(���I* -].��`������BY����M��6*]FA.�M �= $E��.�/,+
���($=*+�(�6$=,g$=01�I.�*+���= <���6����.�0<+V/�.�������0E$&�������6$=,^�C$=.��������(�]�Q, $&�����($&, ��(cM%$&*������I*#�(�K��T=��*+�(.�$=,6,U!
-��I01�6*�$&�(�)� TI�����(���`�($=-]� $=, �I(]M�$=*������I*g9�
����������=*������H.]��*+�)-����=Mn�6* �(��� 	 �I����*3� �` $=� �(�I�'�= 
 ?�I�kB5$=��-K��(cM%$=*]���6�=*K������.�,���� �6*�$� $=������� ��$&�(�5�& [-�����$ !b�= %�(�]��$& "�(����FI,�� B ,6�6F=�3�:��.]��TI�&9 oD����*�F
�= -]!H*%$=01�6��$=,<�I����FI�6*gW[�(�]�6�������I.�,�-\����� B .�M $&�)$&,6, B5$CTI��/%$=*�-]�@���60�.],��i$&*����I.]��,�!=W ��$=.�����*�F
$=* Ak$=�i�]���I0E$&�(����/����C$=Z D)��*#�(���@$& "������F=,6� BS,��6FI�+�D��.��kTI�=9

oD���C$=Z3� �(��$&�Q$=���K$=�i�����I0E$&�(���`B��������6* �(���K$CT&$=��, $=/�,��@BD$CTI��,6��*]F=�(� ��� T=���($&FI�K�%$CTI�
�6*]-�����-�/^����*�������*��6*_0E$=*+!�K)l�o $& "������FI,6� B���WY$=*�- �%$CT=� /^����*���*3������M���� �(��-�$=�K�(�]� ��� �
/����C$=Z�� 9 �&9L$Q/�����$=Z�-�.]�����)���6-]��BD$ !H�Y��(cM%$=*����6�I*1�= ^�(������*������ $=,�,�!Q���I,6,��60E$&�(��-b�I.]� �%� B)9L
����
�(��0E�@�= �������I/]�����kTI��-2$&�i�����I0E$&���6�@/�����$=ZJ���6*]���b�����<K)l�o �C$=* /^�b.]����- ���A���k�(��0�$&���@�����
-���FI�������= ����I,6,��60E$&�(���I* �= D�(���1�I.]� �%� B)9 o !
�($=Z3�6*�F �6*+��� $=�����I.�*+�`�(�����`���I,6,��60E$&�(���I*gW �����
���k�(��0�$&�����`�= ��(������*�����F=!a����,��C$=����-_-�.]���6*]Fn�(��� K@l'oD��W �

γ

WL��$=01��-�� B�*_/+!_$  $&���(�=�b�= 

( Ω4π )
B��������

Ω
���5�(���Q���I,6��-J$=*�FI,�� �= <�(���"K)l'o �=.]� �%� B ���I,�,6��0�$&���6�I* 9<
��]�@-]�6��������/�.]�(���I*A�= 

���=,6�6-n$=*�FI,��`���I������� �(��- �
γ

BD$=�� ?�I.�*]-n�(�A/^�b���6FI�+�(,U!J��,�.�����������- $=���=.�*�-
∼ 1051 ����F�9�
��]�6�

-������(���6/�.c�(�6�=*��6� ���I*����6-�������-K���Q/ �5�=*����= [�(����01�I�k� �601M^�I���($=*+� ������.�,U�(� ���6*����5�(����-]�6����� TI���k!
�= �K@l'o $& "������F=,6� B���9�4 *]�C$=�Q���601�6, $&��$&0E�I.]*3�)�& Y��*�����F=!\����,6��$=���>-�.]���6*]F#��TI����!7K)l�o ���
���=*�����-�������- ���>/ �@$K�������I*�F>� Tc��-���*]���) ?�I��$K���601�6,6$=�DM]���IFI��*������I�D ?�I��$&,6, K)l�oY��9

m �����b��0EM^�I���($=*+�)�(� *��&�(�A�����������%$&�`�(���A�I(c�6������*����#�= ����=,6,6��0�$ �(�6�=*gWg�f9 �=9 �����CW �6*
K)l�oD���6����*] ?��������-  ?���I0 �(���b�6*+�(����M������i$ �(�6�=* �= L�(�]�>$=�i�����=0�$&���6�@/�����$=Z3�Q�I/�������T=��-
�6*n�����
,6��FI�+�Q��.]��TI����9>
������������Q�6*7K@l'oD�)$=���K*��=�)-����������(,U! �I/]�����kTI��- d ��0�$&FI��-[h'$=�)�6* �����>�($=-����
F+$=,6$�(c�6����$&*�- �3.%$=��$=����9 � $=���6�I.]�'�&�(������� � ��� �(���= L���=,6,6��0�$ �(�6�=*A�6*J�(���;K@l'oD��W $=M�$=���' ?���I0
�(�]�b$=�i�]���I0E$&�(���Q/�����$=Z3��W^�%$CTI�`/ ����* ��*3T=���k�(�6FI$&�(��-g9D
����`��T=�I,6.]���6�I*J�= M �=, $=��� �C$ �(�6�=*#$=*�FI,��
$=*�-K������-���FI�������= M^�I, $=��� ��$&�(���I*`�& ^�����%K@l'o_$& "������F=,6� B)WI�� ^�I/]�����kTI��-gWc���I.�,�-K/ ��$=*>��0EM^�I�C+
�i$&*3�:�(�H�I,I�(�����k�i$=/�,��6���b�I� �(����.�,��Y�I.c� �(�]�Y�I(]��������*����5�= ��� �(� ��*<K)l�oY��9:R�*] ?�I�k�(.�*�$&�(��,�!IW �(�����
�6� $ T=����!�-�� ?1��.],��L�I(]�������6���� ?�I� ���($=*]���6��*+�(� �6*KFI��*�����$=,%$=*]-1����M^����� $=,�,�!@ ?�I� K@l'o_$& "������F=,6� B��



xi

FI�UTI��*E�(���' $=�6*+�(*]�����Y�= g����� $& "������FI,6� B���9 4�*A��*3�������������6*�F`���I���I,6,6$=��!��= K)l�o ���I,�,6�60E$&���6�I*����
$=* � ��M��%$&* $  "�(����FI,6� B)W�� 9 �&9 $=* $& "�(����FI,�� B  ?�I�5B��]�6�i�J�(����K)l�oN�6��*]�=��-�������� �(��- 9

m  K)l�oY�5$=�����6*]-�����-A���I,�,6��0�$&����-K�(�]��*������ K)l�oY�5$=*�-��6*��U�(� $&,6,�!@�(�]���6�Y$& "������F=,6� B��
BY�I.�,6-J/^� TH�6����/�,6���I*�,U!��(� �����C� � �O�Q�I/�������T=������B������i�J $&,6,[B����(�]�6*A�(�]�Q�IM ��*��6*]F>$=*�FI,��� ?���I0
�(�]� ����� $�(c�6� �& %�(����K@l'oD��9:4�� �����5���I,6,��60E$&�(��-@�=.]� �%� B -�������,6����$&�(��� $=*�-��k�i$=�k�(�:��(cM%$=*�-]�6*�F
����-���BD$C!H�������Q�IM^��*���*�FK$=*]FI,6���= <���I,�,6�60E$&���6�I*�B���-���*���$&*�-A�(��� $& "�(����FI,�� B /^�����I01���5TH�6���6/�,��
�(� �����C� � �O�1�I/������kTI�����b�I.c�(����-��K�(���1�6*]���(�6$=,<�IM ��*��6*]Fn$=*]FI,6�� ?���I0 �(�]����� �`$�(c�6��91
��3.��`�����
�����C� � �O�J�I/]�����kTI�����KB��6,�,D�����A�(���J$  "�(����FI,6� B���T=��*�$& "�(�����%$CTH�6*�F\01�6������- �����@K)l�o�9Ljc.��i�
�I��M��%$=* $& "������F=,6� B���BY�I.�,6-N/^�  $=��*3��W�-�� ?1��.],������_-�������� �n$&*�-N0E�=��� ��0EM^�I���($=*+�(,U!_TI���k!
�%$=��- ���>�6-���*3���� "!=9 P��=����.���M����6���6*�FI,U!IWc*��I*��)�= <�(����0 �%$CTI�)/^����* -�������� �(��- ���> $=��9

KQ��TI��*n�(�]�6� �����(.�$&�(���I*gW[�(���K$&�i�����I0E$&���6�@/�����$=Z3�Q����0E$=��*n�(���b�I*�,�! M���$=�����6��$=,<���c�=,
�(�>.�*]-��������i$&*�- K)l�oN���I,6,��60E$&�(���I*g9

4�M�$=���5 ?���I0 �����)$=�i�����I0E$&�(��� /�����$=Z3���I/�������T=��-gW%�����@$& "�(����FI,�� B ,��6FI�+�5��.���T=���'$=,����
���]� B M���������*���� �= �$n ?��B �=�(�����K�i�����=0�$&���6�E/�����$=Z3��98
���� � ������/%$=,6, 01�c-]��,�$=����.�01���������
�%����0E�Y$=������,����($ �(�6�=*a�= ���,6�����(���I*��K$&�����=���b�����������c�iZ
B����6�i�a��*���.������>������M^� BD���C+ , $CB -��6� +
�(���6/�.c�(�6�=*8�= ���,6���������I* ��*]����F=�6���>$&*�-_�(���#M^� BD���1,6$CB �k!H*��i�����&�(���=*���M^��� �(��.�0 �= ��(�]� $  +
�(����FI,�� B���9J
����A�I/]�����kTI��-_��!H*��i�����=�(���I*_��M^��� �(��.]0 �= /K@l'o $  "�(����FI,6� B��@FI��*]���($&,6,�! ���`*]�=�
$A����0EM],6�)M � BY��� +V, $CB $=*�-\�U���I(c���6/��U�(��/�����$=Z3� B����6�i� $=���6���b-�.��`�(�AT&$=�����I.��'����$=���I*]��9)
����
��!H*��i�]���=�����I* ����,U Q$=/����I��Mc�(�6�=* �i��$=*�FI���E�(�]� ��M �����(��.�0 /^��,6� B  ?��� �3.���*���!

νa
9�
���� M^�C$&Z

�= �(���>��M �����(��.�0 ���=��������M^�I*�-��)�(� $# ?�����H.]��*�� !
νm

B����6�i�
�6�)$#�i�%$=��$=���������6�����6�K ?�����3.���*�� !
���=��������M^�I*�-���*�F`���`��������,6��� �(���I*��5$ �Y������,�� BY��� ��.c� +V��� �& g�(��� 	 �I����*3� �� $=� �(�I� -������(���6/�.c�(�6�=*
�= �(���'$=������,�����$&�(��-E��,6��� �(���I*���9 45�Y�]�6FI����� ��*�����FI�����LB��������'��������!H*��i�����=�(���I*���$=-��6$&�(���I*K,6�I���
/^�����=0E���D����FI*�� �%�C$=*+� �(�]����,���� �(���=*�-������(���6/�.c�(�6�=*1�k�(����M^��*���9 
��3.��Y�(���'��*�����F=!E-������(���6/�.c�(�6�=*
�= )$&����.]0�.�, $ �(��-���,����������I*]���6�1�6*  $=� �#$2/]���IZ&��* M^� BD���C+V,6$CB B����(� �VBD�a����F=0E��*3����9 
����
/����C$=Z
�6*a�����A��,6��� �(���I*8-������(���6/�.c�(�6�=*a������.�,U�(����*_$n/����C$=Z
�6*2�(���#$  "�(����FI,6� B ��M ��������.�0 $&�
$n ?�����3.���*�� !_�C$&,6,6��-a�(�]��� ��,6��� �(���I*_���H�I,6��*�F  ?��� �3.���*���!�F

νc
9 
����#�(��0EM^�I�($&,Y� TI�I,�.]�(���I*8�= 



xii

�(�]�����`��M^��� �(�($&,</]���C$&ZH��$=*�- �= :�(���@M ��$=Z��%.V( �6��FI� TI����*���- /+!#�(���)��T=�I,6.c�(�6�=* �= <�(�]� � �����I+
/%$=,�, ���(����,U :B������i� ������.�,U�(���6* -�� � ������*+�����%$=M^�����= �(�]��$& "������F=,6� B ,��6FI�+����.]��TI���)$&�'-�� � ������*+�
 ?�����3.���*����6����9 
����Q� � ��� ���& $�*�$&�(.���$=, ���($=*]�������6�I*��= �(���Q�����c�iZ1B5$CT=�@ ?���I0 ����,6$&�(�UTc�������6���(�
*��I*V+V����, $&����TH�6�k�(������(cM%$&*������I* M]�%$=���&W^$& "�(����$=/ �=.]�'$> ?� BS����*����= -%$C!c��W[�6��$=,����K��(cM^��� �(��- �(�
/^�@������* $=�'$=* $=�i�����I0E$&�(��� /�����$=ZA��*J�����@$& "�(����FI,�� BS,��6FI�+����.���T=����9

4 0�.�,U�(�� ?��� �3.�*�� !_��� T=���($&FI� �& =K)l�o�$& "�(����FI,�� B��K�C$=*�/ �J.�����-����2�I(c���($=� ����09+
M^�I���($=*+���6*c ?�I��0E$&�(���I* $=/^�I.]�;K@l'oD�b$=*�-2���������b��*3TH�����I*�01��*+����9 oY!
�($=01M�,6��*�FJ�(���1�(�������
��M^��� �(��$=,3/�����$=Z3�:$&*�-@����� M ��$=Z �%.V(@0E��*3���6�I*]��-@$=/^� T=�=W B����6�i�@�����H.]�6�����<$�T=����!)F=�c�H-Q0�.�,U�(� +
 ?�����3.���*�� !J��� TI���($=F=�`�= �����)$& "�(����FI,�� BS,��6FI�+�5��.���T=���'� TI���'$�B��6-]� �(��01M^�I�($=,^/%$=����,��6*��&W��������
M^�I�����6/�,��5�(�)���k�(�60E$&���D�(�������=�i$=,]��*�����F=!K���I*+�(��*3� �= ^�(�]� �:�6����/%$=,�, d�� h WI������$CTI���($=FI�'-���*����U�V!
�= �(����$=0�/�����*+� 0E��-��6.]0 d � h Wc$=*�->�(�]�' ?��$=�����6�I*>�= �(�=�($=,%��*�����F=!>���I*+�(��*3�D�6*K�(�]����,6��� �(���I*��
d
εe
h W[$=*]- ��*J�����)M �=��� + �����H�iZA0E$=FI*�� �(��� �%��,�- d

εB
h 9 4 FI�H�H- 0b.�,���� +  ?��� �3.���*���!���� TI���($=FI�@�= 

�(�]�b$& "������FI,6� B ,6�6F=�3����.���T=�`���'$10�.]���� ?�I���6*] ?�������6*�F������`�I(c�6������*����b�= $=�i�����I0E$&�(���Q/�����$=Z3��W
�(�]�@��M �H�i���'�= <B����6�i� �C$=* /^�Q.�����- �(�>�����(��0�$ �(�Q�IM^��*���*�F1$=*�FI,������= <�(�]�@�=.]� �%� B���9

� � � 
I� W>$ �($ �(��,�,6�U�(�_-�� TI�=����- ����K)l�oX-�������� �(�6�=* $=*�-  ?�I,6,�� B .�M W>B��]�6�i� BD$=�
, $&.�*��i����-a�6*2P�� T^9 �=rIr���W �%$=�@���6*]���1-��6����� TI������-

∼ 200 K)l�oD��9A4�����*]��������T=�9(J+V��$C!\�(��,���+
�����IM^�5�I*3/ �I$=��- � � � 
I�c$&*�-������ �3.����iZ@ ?�=,6,6� Ba.�M��C$&M%$=/���,6�����6��� ���I0�/]�6*���-`B������bFI���I.�*�-V+V/%$=����-
�IM]���6��$=,<����,��������IM^����W ����M^����� $=,�,�!#�����b���I/ �&�(�6�@�IM]���6��$=,<����,��������IM^����W �%$=��M]��� TH�6-���-\.���B������\$
B��6-]��0�.�,U�(� +f ?�����H.]��*�� ! ��� TI����$=FI�K�= QK)l'o $& "�(����FI,�� B��Q$=*�-\�%$&� ������.�,U�(��-\��*\$����6�i�\-��UTI��� +
���U�V!
�= �$& "������F=,6� B ,��6FI�+�)��.]��TI����B������a0�.�,U�(��M�,6��/]���C$&ZH��9 m �`�%$=�b$=,6��� /^����*8������*8���%$&�@ ?�I�
0E$=*+!\$& "������F=,6� B����(�]�>$=�i�����=0�$&���6�`/�����$=Zn-���-\*��=�)�H����.��Q��T=��*2$& "�(���Q$� ?��B BD����Z3��9�
��]�6�
�($&�6������$ M �I������/��6,����V!n���%$&�@�(���E���I,�,6��0�$&���6�I* �6* K@l'oD��W<B����6�i�a�6�@�6*] ?��������-2 ?���I0 �(���E��(c�6� +
�(��*����1�= 5$=�i�����=0�$&���6��/]���C$&ZH��W ���@*]�=�@$ F=��*������6�K ?��$&�(.����>�= �$=,�,LK)l�oD��9>4�,�������*%$&�(�UTI��,�!IW �U�
�($&�6������-��I.�/]����� T=�����(���@�6*+�(����M������($&�(���I*J�= $&�i�����I0E$&���6�Q/����C$=Z3��$=��$&* � � ������-�.��Q�(�#K@l'o
���=,6,6��0�$ �(�6�=*g9�m �Q�6��$=,6�����(��.��b���%$&�����������K�6��W ���E $=��W *��#����*�FI,6�@01�c-���,<B��]�6�i� �C$=*n��(cM�, $&�6*
�(�]�n0�.�,U�(��M�,6�#/����C$=Z3�A�=/�������TI��-N�6*�$& "�(����FI,�� B ,6�6F=�3�>��.���T=����9 
��3.���W����1���E��0EM^�I���($=*+�>�(�



xiii

.�*�-]�����k�i$=*]-#��TI����!1�I/������kTI��-#/]���C$&Z1��*E�=��-����Y�(�@����$=���i�A ?�=� � TH�6-���*������= ���=,6,6��0�$ �(�6�=*g9 
����
BY�I��ZAM]��������*+�(��- ��*A�(�����D�(�]�����������I*]���6�k�(���= <0�.],��(� +  ?��� �3.���*]��!E�I/�������T&$&���6�I*���$&*�-#0E�H-���,6�6*]F
�= $  ?��B K)l'o $  "�(����FI,6� B�� ���@.]*�-��������($=*�->T=$&���6�=.��L/�����$=Z3� ������*���*>��������� ,6��FI�+�L��.]��TI����Wc$=*�-
�(�>���C$=���i�  ?�I��$=*]- ��*3T=���k�(�6FI$&�(� �����)���I,�,6�60E$&���6�I*1�6* K)l�oD��9


�����$  "�(����FI,6� B_�& K@l'oar+p&r �+r � M���������*+���L����T=����$=,�*�� TI��,%$=*�-b�6*+�(�������k�(��*�F� ?�C$ �(.������
B������i�\$=���@-�� ?E��.�,���������(cM�,6$=�6* .����6*�F1�(���`���i$&*�-%$=��- �%����/%$=,�, 0E�H-���, -]����������/ ��-\$=/^� T=�=9�4
/����C$=Z_��* �����@(J+ �($C! ,6��FI�+�K��.��kTI�n$=/ � T=�

∼
r]9 r+p -�$ !_B��U�(��$=* .�*3.���.%$&,���,6�IM^� $& "�(���>�����

/����C$=Z_B������i� �6�>*��=��$=�����I01M%$=*�����- /+!�$
����0�.�,��($=*����I.��>/�����$=Z �6* �(��� �IM]���6�C$&,�$=*�-������
, $&��FI� ��(H�(��*������6�I* ��*] ?��������-� ?���I0 �(�]� (J+V�($C!�$& "�(����FI,�� B B����6�i�N�����6*]���I*����6�k�(��*+�AB��U�(�������
-�� �(��� �(���I*��= �(�����IM]���6�C$&,%$& "�(����FI,�� B 0E$=Z=���Y�(�]�6� $& "�(����FI,�� B �6*+�����6F=.��6*�F]9 �2����$ T=��01�c-]��,6��-
�(�]�D�I/������kTI��->0�.],��(� +V/%$&*�-)��TI�=,6.]���6�I*@�= ������5$& "������FI,6� B_�= K@l'oar+p&r �+r � $=�<�I*��D�=���6F=�6*%$&���6*�F
�6*2$J
<BY� e �I01M^�I*���*+�bO=����W:��*+�(����M���� �(��*�F �����1/�����$=Z �6* �(�]�9(J+V��$C!\,6��FI�+�)��.��kTI�A$&�@/^����*�F
-�.��@�(�1, $&������$=, ��(cM%$=*]���6�=*n�= $E*%$=����� B ���I,6,��60E$&�(��-#�I.]� ��� BSB����6�i� -��I01�6*%$&�������(�]�=(J+V��$C!
��01�6�������I*g9�
�����0E$ ���I�����V!#�& L�IM]���6�C$&, ��01�6�����6�I* �6��$&���(����/�.]����- ���A$EB���-���� ���������I01M^�I*���*+��9
� .��10E�H-���,�����M����c-�.]������$=,6,5�����n�=/�������TI��-  ?�C$&��.��������= 0�.�,���� + /%$=*�- $& "������FI,6� B �= K@l'o
r+p=r��+r � 9HK@l'o r � r � � �)��� $@M]����TH���I.�� ��(]$=01M�,6��B����������(���'��(c�����(��*����'�= g$Q�VBY�E+ ���I01M �=*���*+�
������BD$=���6*] ?��������-g9

�2���%$CTI�E ?�I,6,�� BY��-2.�Ma��������$=-��6�n$& "�(����FI,�� B �= K)l�o r � r � � � .����6*�F �(��� K)�6$=*+�
) � �(��� B5$CT=�>l�$=-]�6�>
:��,6�������=M � d K")nl 
'h5 ?�I��0E�=���Q�(�%$&*

∼ 1400 -%$C!H��9�
��]�b$& "������FI,6� B �& 
�(�]�6�"K)l�o �%$=�Q/^����*2�=/�������TI��-a�(�]�K,6�I*�F=������W $=*�-2$=,6���J$&�Q�(�]�1,�� BD�����Q ?�����3.���*�� !IW $=0E�=*�F
$=,�,�$& "������FI,6� B��A���8 $=��9 � .��A�I/]�����kT&$&�(���I*��AM���� Tc��-��n����� -�����M^����� M����I/^� �6*+�(�2�(���\*��=*,+
����, $&����TH�6�k�(���#��TI�=,6.]���6�I* �= )$7K)l�o �%����/%$=,�,f9 R'����*�F
����� �I/�������T&$&���6�I*��1�= ��(�����E$  "�(����FI,6� B
 ?���=0 �2����������/ �I��Z#jH!H*+�(�]�������'l�$=-]�6��
<��,��������IM^� d � j]l 
'h5$=*]- � ����! 	 $=��FI�Q4�����$ ! d � 	 4 h
BY�D�%$CTI�Y0E�H-���,6��-)�(�]�Y� TI�I,�.]�(���I*`�& ]�(�]�D$& "������FI,6� B_$&*�-b���I*���,�.�-�� �(�%$ �:����� ������/�$=,6,+� TI�I,UTI��-
 ?���=0 �(��������,6$&�(�UTH�6�����6�5���`�(�]��*��I*V+V����, $&����TH�6�k�(��������F=�601��$ �

∼ 60 -�$ !H��9 
��]����*]����F&!E���I*+�(��*3�
�= ����� ������/�$=,6,����k�(��0�$&����-��6*�-���M ��*�-���*3��,�!  ?���=0 �(��� *��I*,+ ����,6$&�(�UTH�6�����6�A����FI��0E�J��*�-��6��$&�(���



xiv

�(��$&�`�����1��*�����F=!
�6*c ?��������-
 ?���I0 �����1����,6$&�(�UTH�6�����6�K����FI��0E��BD$=��$&*a.�*�-]���C+ ���k�(�60E$&���=9�
��]�6�
���=.�,6-\/^��-�.������#.�*��������($=�6*+���6�����6*+TI�I,UTI��-
��*n�(�]�>$=����.�0E��- -���FI�����K�= ���I,6,��60E$&�(���I*J�6*n�����
����, $&����TH�6�k�(��� M]�%$=���\�=�A$8��������-�.%$=,�$=*��6���=�(���IM+! �6* ��0E���������I*�-].�����*�Fa�(�]� *��I*,+ ����, $&����TH�6�k�(�6�
M��%$&���=9

4 TI����! �6*+�(���������(��*�F
$=*�-�.�*�� �3.�� �C$&��� �= $  "�(����FI,6� B ��TI�=,6.]���6�I* �6�>M���� Tc��-���-�/+!
�(�]�@K@l'o5r+p&r � � �J$& "������F=,6� B)9 � M]���6��$=, ,6�6F=�3�@��.���T=���K�= 5�����#$& "������FI,6� B ����� B�$=*8.�*3.���.%$=,
�(��$=*������(���I*� ?���I0 ���(����M#�(���%$&��-����C$C!�B��U�(�J$�/����C$=ZE$&�

∼
rc9 r �@-%$C!#$& "�����D����� /�.��������I*]������9


������D/����C$=Z1�6�Y$=/�����*+���6*1�(���/(J+V�($C!1,6��FI�+� ��.��kTI�=9 �2��M���������*+�'$`01�c-]��,% ?�I� �(����0�.�,����6/%$&*�-
$& "������F=,6� B �= =K@l'o5r+p=r � � �nB�������� BY�n����� B �(�%$ �E����� /]���C$&Z ������* �6* �(��� �IM]���6��$=,�,6��FI�+�
��.]��TI�>$ �

∼
r]9 r �1-%$C! �6�'M �I������/�,�!J-�.]�b�(�1�(�($&*����U�(�6�=* �= �(�������6����.�0<+V/�.]������01��-���.�0  ?���I0

B��6*]- �(�A���=0E�IF=��*����I.�����*+�(����������,6,6$=�'0E��-��6.�0 9'
:�A�=.�� Z3*�� B�,6��-�FI�=W �(�������6�'�(��� �%���k�Q��T=���
-�� �(��� �(���I*#�= <��.��i� $b�(��$=*������(���I*g9:
����6�5��$=* $=,6����������T=�`$&��$����I* �%��0E$&�(���I*A�= 0E$=������T=� ���($=�
���=,6, $&M����Q������*�$=�����> ?�=� K@l'oNM����IF=��*��U�(�I����W���*�-���M^��*]-���*+���= LjH.�M ����*�� T&$>���6F=*%$&�(.]������9


����E�I��F+$&*��6��$&�(���I*\�= 5�����1���������6�`�6�`$=�@ ?�=,6,6� B���9 e �%$=M]����� � M���� Tc��-����b$=*a��*+�(����+
-�.�� �(���I*1���Q�(������.]/������ �D�= K)$=0E0E$Ql'$ !KoD.����k�(� $=*�->�(�]���6�L4' "�(����FI,�� B���9 mV* e �%$=M]����� �QBY�
-����������6/^�b��*n-�� �i$=��, �����b���I01M�.]�(�������c-]����BY���%$CT=�b/�.���,����(�E����0E� +V*3.�01�������C$=,�,�!E0E�H-���, �����
0�.�,U�(� +V/%$=*]-A$& "������F=,6� BN,6��FI�+�D��.���T=����9YmV* e �%$&M]�(��� � BD�Q-]����������/ � �=.��D�I/]�����kT&$&�(���I*��5�= �����
$& "������F=,6� B��Q$=*�-\�������(��,6�������IM^���)$&*�-\�(���K-�� �(�����(�=�Q��!H������01�@.]����- 9�
����K01���(�]�c-\�= -%$ �i$
$=*%$&,�!H�����D�6�D��, $&/ �I��$&�(��-���*��(�����5�i�%$=Mc�(����9 G�.����6*�F������ ���=.������Q�= �(�����YBY�I��Z[W]BY�Q�%$CTI� ��������-
�(�b-����������Y�(��� $& "�(����FI,�� B�� �= gT&$=���6�I.]��K)l�oY�D/�.]�D*��=�Y��T=����!A$&������01M]�Y0E� �YB��U�(�A$`��.�����������9
4 ���=0EM�,�������,6����� �& NK)l�oY�� ?�I� B������i� BY�1$&������01M]�(��- �(�J-�� �(��� �)�(���>$& "������FI,6� B�� ��� FI��T=��*
�6*J�(�]�6���i�%$=M]�����'B����(�J�(�]�`-�� �i$=��,6��- ,��IF1�= �I/]�����kT&$&�(���I*��'$=��BD��,6,<$=���(���@.�M�M^���',6��0E�U�(�D�=/,+
�i$&�6*���-g9 4�M�$=���  ?���I0 �(������W3�(���'�I/�������T&$&���6�I*]�Y�= �(����$& "�(����FI,�� B�� B��]�6�i��BY������-�� �(��� �(��-#$=*�-
 ?�I,�,6� BD��- .�M
$=���>,6��������-\�6*\�����>���I��������M �=*�-��6*]F �i��$=M]�(������91
��]�E��$=-��6�J$  "�(����FI,6� B �= �K@l'o
r � r � � � $=*�-a�=.��`.]*�-��������($=*�-���*�Fn�= Y�(���E*��I*,+ ����, $&����TH�6�k�(�6�bM��%$=���E�= /K@l'o ������/�$=,6, /%$=����-
�I*8�U�����b-�������.]������- �6* e ��$=M]�(��� ��9 e �%$=M]�����>p -]�6����.��������K�(�]���6*+�������������6*�F ��$=�����= %K@l'o



xv

r+p=r��+r � B����I���� $=��*3�Y$& "������FI,6� B�BD$=� -�������� �(��-��6*1�IM]�(���C$=, 9 � /�������T&$&���6�I*]�Y$&*�-�01�c-]��,6��*�FQ�= 
K)l�o r+p=r � � �E$& "������FI,6� B $=�'/^���6*]F�-�.��@�(�1B��6*�- �(�Amkj )X�(�($&*����U�(�6�=* �& �(���`��������.]09+ /�.����k�
01��-���.�0 �6�@-�������.]������-8�6* e �%$=Mc�(���`q]9��2�1M���������*+�K�=.��)���I*���,6.����6�I*]�b$=*]-a,6�������I*��@,6�C$&��*+�
$=/^�I.]�������)���I,�,6�60E$&���6�I*1�6* K)l�oD�5 ?���I0 �����@$=/ � T=�@01��*+���6�I*���-J���(.]-��6����W%�6* e �%$&M]�(��� 
H9



Contents

� �������	��

����������� �

� 9 � K@$&0E0E$�l'$ !#oD.����k�(�19`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 3

� 9 � 9 � K)l'o -]�6��������/�.]�(���I* 9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 4

� 9 � 9 � e ,6$=����� �%��$&�(���I* 9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 4

� 9 � 9 � oY.����k��7L��� �%,6��9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 5

� 9 � 9 � 
��]� e �=0EM%$&���(*]������7L���I/],6��0 $=*�-J
����`l'��, $&����TH�6�k�(�6��0E�&�(�6�=* 9`9@9@9 6

� 9 � 9 p jH���I���%K)l'oD�_9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 8

� 9 � 4� "������F=,6� B��\9`9@9@9`9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 11

� 9 �c9 � � +V��$ !A4� "�(����FI,�� B�� 9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 12

� 9 �c9 � � M]���6��$=,g4� "������FI,6� B�� 9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 13

� 9 �c9 � l'$=-����K4� "������F=,6� B�� 9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 14

� 9 �c9 � jH.�M ����*�� T&$>4������c��� $&���6�I* 9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 15

� 9 �c9 p G�$=��Z@K)l'oD� 9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 17

� 9 � �L*�����FI�����6��� 9`9@9@9`9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 18

� 9 � 7L���IFI��*������I�����& K)l�oY� 9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 20

� 9 p e ��*+�(��$=, �L*�FI��*�����M^� BY�����6*�F>�(�]�'K)l'oD� 9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 22

� 9 q �L*3TH�����I*�01��*+���'�& K)l�oY�29@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 23

� 9 
 K@l'o &��I�k�(� 9@9@9`9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 23

xvi



CONTENTS xvii

� 9 s 
����@l'��, $&����TH�6�k�(��� � ������/�$=,6, ) �c-]��, 9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 24

� 9 s]9 � G'!c*�$=0E����� 9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 25

� 9 s]9 � 9 � l���,6$&�(�UTH�6�����6� jc���H�iZ#$=*�- e �I*�������T&$&���6�I* � �3.%$&���6�I*�� 9@9@9 25

� 9 s]9 � 9 � 
��]�����@
��601�)jc��$=,6��� 9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 26

� 9 s]9 � 9 � �:�6����/%$=,�, � (cM%$=*����6�I* 9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 27

� 9 s]9 � l'$=-��6$&�(���I* 9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 28

� 9 s]9 �c9 � �L,����������I* �L*�����F=! G����������6/].]�(���I* 9@9`9@9@9`9@9`9)9@9`9@9@9 28

� 9 s]9 �c9 � 7<�I���C+kjc�]�c�iZ )n$&FI*������6��� ����,�-�9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 29

� 9 s]9 �c9 � j3!c*]�i�����=�����I*njcM^��� �(��.]0 �= K)l'o 4' "�(����FI,�� B 9)9@9`9@9@9 29
jHM �����(��$=, /����C$=ZA-].��Q�(�10E��*��60�.]0 	 �I����*+� �Q $=� �(�I�

γm
9`9)9@9`9@9@9 30

jHM �����(��$=, /����C$=ZA-].��Q�(�1�($=M���-#���H�I,6��*�F��= ���6F=�#��*�����F=!J��,6��� �(���I*�� 9 30
jHM �����(��$=, /����C$=ZA-].��Q�(�1��!H*��i�����=�(���I*n����,� $=/����I��Mc�(�6�=* 9`9)9@9`9@9@9 31
7<�C$=Z ��.,(J�= <�(���)�k!c*]�i�����=�����I* ��M^��� �(��.]0 9@9`9@9@9`9@9`9)9@9`9@9@9 32

� 9 s]9 �c9 � 4' "�(����FI,�� B 	 �6FI�+����.���T=���29@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 32

� 9 � P��I*V+tl���, $ �(��TH�����(��� � T=�I,6.]���6�I*J�= <�(�]� �:�6����/%$=,�,<9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 34

� 9 �]9 � G'!c*�$=0E����� 9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 34

� 9 �]9 � 9 � P'�I*,+Vl'��, $&����TH�6�k�(�6� � (cM%$=*����6�I* �= <�(��� � ������/�$=,6, 9)9@9`9@9@9 34

� 9 �]9 � l'$=-��6$&�(���I* 9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 36

� 9 �]9 �c9 � �L,����������I* �L*�����F=! G����������6/].]�(���I* 9@9`9@9@9`9@9`9)9@9`9@9@9 36

� 9 �]9 �c9 � 7<�I���C+kjc�]�c�iZ )n$&FI*������6��� ����,�-�9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 37

� 9 �]9 �c9 � j3!c*]�i�����=�����I*njcM^��� �(��.]0 $=*�- m �(� � TI�I,�.]�(���I* 9`9)9@9`9@9@9 37
jHM �����(��$=, /����C$=ZA-].��Q�(�10E��*��60�.]0 	 �I����*+� �Q $=� �(�I�

γm
9`9)9@9`9@9@9 37

jHM �����(��$=, /����C$=ZA-].��Q�(�1�($=M���-#���H�I,6��*�F��= ���6F=�#��*�����F=!J��,6��� �(���I*�� 9 38
jHM �����(��$=, /����C$=ZA-].��Q�(�1��!H*��i�����=�(���I*n����,� $=/����I��Mc�(�6�=* 9`9)9@9`9@9@9 38
7<�C$=Z ��.,(J�= <�(���)�k!c*]�i�����=�����I* ��M^��� �(��.]0 9@9`9@9@9`9@9`9)9@9`9@9@9 39

� 9 � r e �I,6,��60E$&�(��-��I.c� �%� B��'�I�'O=������ ?���I0 K)l�oY�#9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 39



CONTENTS xviii

� 9 � r]9 � R'*��� ?�=��0 O=� �(� 9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 41

� 9 � rc9 � 9 � G'!c*�$=0E���C$=, �LT=�I,6.c�(�6�=*�9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 41
l���,6$&�(�UTH�6�����6� jc���H�iZ#$=*�-njc�6-]��BD$ !H�'��(cM%$=*]���6�=* 9@9@9`9@9`9)9@9`9@9@9 41
�:�6����/%$=,�, � (cM%$=*����6�I* 9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 42

� 9 � rc9 � 9 � l'$=-��6$&�(���I* 9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 42
jHM �����(��$=, /����C$=Z3��$=*�-#�(�����6�5����01M �I��$=,g� TI�I,�.]�(���I* 9@9`9@9`9)9@9`9@9@9 42
4' "�(����FI,�� B 	 �6FI�+����.���T=��� 9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 43
e �������6������0 $=F+$=��*����������@R�*��U ?�I��0 O=���'01�c-]��, 9`9@9@9`9@9`9)9@9`9@9@9 43

� 9 � r]9 ��j3�(��.]���(.]����- O=����� 9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 44
7L����-������(���I*J�= jH�(��.�����.�����- O=� �R) �c-���,6�)9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 45
e �������6������0 $=F+$=��*����������`jH�(��.�����.�����- O=� ��) �c-]��,6� 9@9`9@9`9)9@9`9@9@9 47

� 9 � r]9 � � ��M��%$=* 4� "������F=,6� B�� 9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 47

� 9 � � � � � 
I� �Q/]�����kT&$&�(���I*�� �= 4� "������F=,6� B��D$&*�-��(�]� R�*]��(cM�, $&�6*���-A4� "������F=,6� B oD�I+
�%$CTH�6�I.���� 9@9`9@9@9`9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 48

� 9 � � � ��F+$=*]�6�($ �(�6�=*A�= <�(���)
��������6� 9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 49

� � �����
� ��� ��� � 
	��

� ��
 ���	� ��� ������������� � ��� ����� � ���

�c9 � mV*+�(���H-�.�� �(���I* 9@9@9`9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 58
�c9 � mV0EM^�I�k�i$=*����Q�= H) .�,����6/%$&*�- �Q/]�����kT&$&�(���I*���$=*�- ) �H-���,��6*�F 9`9@9`9)9@9`9@9@9 58
�c9 � e �c-]���� ?�I� � �U���(��*�Fb������) .�,����6/%$&*�-J4� "�(����FI,�� B�� 9`9@9`9@9@9`9@9`9)9@9`9@9@9 59
�c9 � jc.�010�$&��! 9`9@9@9`9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 73

� ����� � �������! "� 
�� �#� ��
%$'& ���)(%�+*,
�� ��-.� ��� � �!
 �0/213 "465"/ �7� ��8�����9:
 ���

� 9 � mV*+�(���H-�.�� �(���I* 9@9@9`9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 76
� 9 � � M]�(���C$=, � /������kT=$ �(�6�=*�� 9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 77

� 9 �c9 � 
<��,��������IM^���_9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 77
� 9 �c9 � G�$&�i$>l���-�.�� �(���I*n$&*�-J4�*%$=,U!H���6� 9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 78



CONTENTS xix

� 9 �c9 �c9 � e ,��C$=*]�6*�F19`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 80
� 9 �c9 �c9 � 4�*%$=,U!c���6*�F 9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 81
G����(�������6*�F1���($=�����6* $K��,��C$=*J��0�$=F=�_9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 82
7L���&�(�I01������! 9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 82
� 9 �c9 �c9 � j3�i$=*�-�$=��-�������*�F 9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 84

� 9 � l�$&-��6� � /�������T&$&���6�I*]�89`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 86
mV*+������ ?�����I01������!\9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 87
4�M ������.����`jH!H*+�(����������9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 88

� 9 � 9 � KQ� $&*3�/) ��������BD$CTI�Kl'$=-����K
:��,6�������=M � d K")nl 
'h 9@9`9@9`9)9@9`9@9@9 88
� 9 � 9 � 9 � � /������kT=$ �(�6�=*��5B������4K")nl 
 �%4 �����($&����F=!X9@9`9)9@9`9@9@9 89
� 9 � 9 � 9 � �:,6.,( e $=,6��/��($&���6�I* 9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 91
� 9 � 9 � 9 � 7L�%$&��� e $=,6��/��($ �(�6�=* 9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 92
� 9 � 9 � 9 � oD$=*�-�M%$&��� e $=,6��/��($ �(�6�=* 9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 93
� 9 � 9 � 9 p mV����.���� 9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 94

� 9 � 9 � G�$&�i$>l���-�.�� �(���I*n$&*�-J4�*%$=,U!H���6� 9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 95
� 9 � 9 �c9 � 7L����+t7L���c���������6*�F 9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 96
� 9 � 9 �c9 � e $&,6�6/]�($&���6�I* 9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 97
� 9 � 9 �c9 � mV0E$=FI��*�F 9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 98
� 9 � 9 �c9 � jH��,� e $=,��6/���$&�(���I*�9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 99
� 9 � 9 �c9 p �:,6.,(@) �C$=��.�����0E��*+�(��9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 99

� 9 � �%+ �($C! � /�������T&$&���6�I*]� 9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 99
� 9 ��9 � 
<��,��������IM^� 9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 100

� 9 ��9 � 9 � � l 
�) �c-����A9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 100
� 9 ��9 � 9 � e ,6$=����� �%��$&�(���I*#�= � TI��*+��� $=*�- KQ�($=-]���#9@9`9@9`9)9@9`9@9@9 102
� 9 ��9 � 9 � e $&,6�6/]�($&���6�I*#G�$&�i$>o5$=��� 9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 102

� 9 ��9 � G�$&�i$>l���-�.�� �(���I*n$&*�-J4�*%$=,U!H���6� 9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 103



CONTENTS xx

� 9 ��9 �c9 � � l 
 7L��M ��,6�6*]�_9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 103
� 9 ��9 �c9 � � (H�(��$=�����6*�F17L���H-�.�� �(� 9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 103
� 9 ��9 �c9 � jHM �����(��$=, ) �H-���, �:�������6*�Fa9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 104
� 9 ��9 �c9 � 4�*%$=,U!c���6���= :,6��FI�+����.]��TI����9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 105

� 9 p jc.�010�$&��! 9`9@9@9`9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 106

� 13 34 � �����0�������3� ��� � ��� 
 � � -���
 ����80� �������!
 ��/'�
	 � ��� *!��� ���3� � � � � ���	�

� � � &  "����� ��� - � 
 ��� ��
 �	��
�� ��/�� - ��� � ����� � �����

��9 � mV*+�(���H-�.�� �(���I* 9@9@9`9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 110
��9 � l�$&-��6�K�I/]�����kT&$&�(���I*���.����6*�F#K�) l 
S$&*�-n$&*%$=,�!H���6� 9@9`9@9@9`9@9`9)9@9`9@9@9 111
��9 � ) �H-���,��6*�F�������) .�,����� ?��� �3.���*]��!Jl'$=-����K4� "�(����FI,�� B 9@9`9@9@9`9@9`9)9@9`9@9@9 112

��9 � 9 � 7L�+!H�����C$=,<7 $&�($=01��������� 9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 117
��9 � G��6����.��������I* 9`9@9@9`9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 119

��9 ��9 � l���,6$&�(�UTH�6�����6�'TI������.���P��I*V+tl���, $ �(��TH�����(��� 9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 120
��9 ��9 � e �=.�*+�(����O=��� �L01�6�����6�=*a9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 122
��9 ��9 � � �3.%$=, 
���0E�Q�& 4������UT&$=, jc.��k $=����� 9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 123
��9 ��9 � jH�I.������`jc� ��� � T=�I,6.]���6�I* 9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 126

��9 p jc.�010�$&��! 9`9@9@9`9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 128

� 13 34���������� ��� 5 ����
�� / � �:��� � �!*�������� ��� � 
	��� �����

pc9 � mV*+�(���H-�.�� �(���I* 9@9@9`9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 133
pc9 � 4�*%$&,�!H�������= � � � 
I� �Ql 
 -%$&�($ 9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 135
pc9 � � M]�(���C$=, � /������kT=$ �(�6�=*���$=*�- G $&�($1l���-].������6�I* 9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 137
pc9 � 	 �6FI�+����.]��TI�����& K)l�o r+p&r �+r � $& "������FI,6� B 9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 139
pc9 p ) �H-���,��6*�FK�= HK)l�o r+p=r��+r � $& "������F=,6� B 9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 143

pc9 pc9 � jHM �����(��$=, 7 $&�($=01�����������= <�(�]�@4' "�(����FI,�� B �= HK@l'o r+p=r �Ir � 9@9`9@9@9 144
pc9 pc9 � 7L�+!H�����C$=,<7 $&�($=01���������5 ?�=� K@l'o r+p=r �+r � 9`9@9`9@9@9`9@9`9)9@9`9@9@9 147



CONTENTS xxi

pc9 q G��6����.��������I* 9`9@9@9`9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 149
pc9 q]9 � 7L,6$=.�����/�,6� ��(cM�,6$=*%$&���6�I*� ?�I�E�����\, $=��FI� ��(H�(��*������6�I* ��*] ?��������-  ?���I0

(J+ �($C!J$=/����I��Mc�(�6�=* 9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 149
pc9 q]9 � K)l'o rIp=r �+r � $&*�-4K)l'oNr � r � � � �L4 ���I0EM�$=�������I*29`9@9`9)9@9`9@9@9 152
pc9 q]9 � K)l'o rIp=r �+r � $&*�- ������K)�]�6��,6$=*�-%$bl'��, $&���6�I* �_9@9@9`9@9`9)9@9`9@9@9 152

pc9 
 jc.�010�$&��! 9`9@9@9`9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 153

� 13 34������ � � � ��� � ��
 ��� ��� � � � � ��
�� ����� � �����

q]9 � mV*+�(���H-�.�� �(���I* 9@9@9`9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 159
q]9 � � /�������T&$&�(���I*���$=*]-nG $ �i$>l'��-�.�� �(�6�=* 9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 160
q]9 � 	 �6FI�+����.]��TI�����& K)l�o r+p&r � � � 9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 163
q]9 � K@l'o r+p=r � � �K$& "�(����FI,�� B �LB���*�-J�I�����I01�IFI��*����I.]�'-]��*������V!#M���� �%,��	�`9`9@9@9 164

q]9 ��9 � 7L�+!H�����C$=,<7 $&�($=01��������� 9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 167
q]9 p G��6����.��������I* 9`9@9@9`9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 169

q]9 pc9 � j3�(��,�, $=�LB���*�-��D-].����(�`0�$&�����UTI�����i$&���5$&*�-��(�]� ��������.]09+ ���(��,6,6$=�L-���*V+
�����V!#M]��� �%,��a9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 169

q]9 pc9 � jH�6FI*%$ �(.����Q�= � ��*�- l'� TI��������jc���H�iZ
� 9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 171
q]9 pc9 � mV01M�,��6�C$ �(�6�=*��Y ?�I�5�����)0E�H-���,6�5�= HK)l�oNM����IFI��*]���(�=��� 9@9`9)9@9`9@9@9 172

q]9 q jc.�010�$&��! 9`9@9@9`9@9`9)9@9`9@9@9`9@9`9@9@9@9@9@9`9@9`9@9@9`9@9`9)9@9`9@9@9 173

� � � ���)� �!
���� ��
 ��� ��
7
�� �!
 ����� � � � ��� 80� �	

� �!8 � � � � � ��� ��� � � � � 13 34 �./ ��� �7&

8 ����9:
 � �
�

5"�!� � ��
�����& � �����

5"�!� � ��
�����& � � �����




